[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKMS/1-6300107-00001XX
TrigonometryExercise7 for No.9012

Noz{ d=[a=72b=(724/2 =101.82), c = (3642 /3 = 3642 =37.27)] }
2=[B=60° c= (64243 +184/2 =40.15), a = (1242 4/3 =29.39)]
Moo [1—[0—105 A=30°b= (84[—11879)]}
2=[C=45,B=75° a—(21ff 51.44)]
I=[A=45 c=(33+334/3 =90.16), b = (334/2 = 46.67)] }

NOS:{Zz[C:3O°,a:(15«/E+ 154/2 4/3 =57.96), b= (3042 =42.43)]

Nod =[a=54b=(274/2 /3 =66.14), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300107-00002XX

TrigonometryExercise7 for No.9016

1:[C=45°,b=(42+42«/§=114.75),a:(42«/5=59.40)]}
2=[a=90,b=90,c=(904/3 = 155.88)]
N02=[1 —[4=30° C=30° b=(604/3 = 103.92)]}
2=[B=45,C=105° a=(3342 = 46.67)]
N03:[.1:[C:45°,b:(33«/§—33:24.16),a:(33«/5«/§:80.83)]}
2=[B=30°a=(304/3 =51.96), c = 30]
Nod=[a=36,b= (1842 /3 =44.09), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXM5/1-6300107-00003XX
TrigonometryExercise7 for No.9018

NO]:[-1=[B=60°,a=(24ﬁﬁ=58.79),c:(lzﬁ«/?+36ﬁ=80.31)]}

2=[a=78,b=(39+39+/3 =106.55), c = (3942 4/3 = 95.53)]

No - {1—[0—105 ,A=30° b= (90«/7—12728)]}
2=[4=75,C=60° b= (1042 /3 =24.49)]

Ab]::{

N03_[ .1:[3:45,c:(36ﬁ=50.91),a=(36+36f=98.35)] }
TL2=[C=60%a=(104/24/3 =24.49), b= (542 4/3 + 154/2 = 33.46)]

Nod =[a=54b=(274/2 /3 =66.14), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00004XX

TrigonometryExercise7 for No.9036

NO]_[.]z[C:45°,a:(45«/E«/§:110.23),b:(45+45«/§:122.94)]}
- 2=[a=42,b=42,c=(424/3 =72.75)]
Moo - { —[4=75°C=60°b=(28424/3 = 6859)}

2=[4=75 B=45° c_(33ff 80.83)]
Nog o [ —[C=30°b= (54ﬁ 76.37), a = (27ﬁ+27ff_1o432)]}
—[A=45% b=(15+154/3 =40.98), c = (154/2 4/3 =36.74)]

No4=[a=30,b=(304/3 =51.96),4=30"]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKKXXKXKXKKXKXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6300107-00005XX
TrigonometryExercise7 for No.9037

Noz{ d=[A=45°c=(21+214/3 =5737),b=(214/2 4/3 =51.44)] }
2=Ta=(7424/3 +214/2 =46.84), b= (1442 4[3 =34.29), c = 42]
NOZZ[.I:[A:75°,B:60°,c:(14«/5«/§:34.29)]J

2=[B=15° C=45° a=(214/2 43 =51.44)]
N(ﬁ{ I=[A4=30%b=(1542 + 1542 4/3 =57.96), ¢ = (304/2 = 42.43)] }
2=[B=60°c=(542/3 +154/2 =33.46),a= (1042 4/3 =24.49)]

No4=[a=66,b=(334/2+/3 =80.83), 4 =45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300107-00006XX
TrigonometryExercise7 for No.9138

NO[_[ I=[C=45°b=(274/3 =27=19.77),a = (274/2 4/3 = 66.14)] }
TL2=[a=30,b=(3042 =42.43),c = (154/2 /3 — 154/2 = 15.53)]
{]z[C:15°,B=45°,a=(42«/5«/§=102.88)]}
No2 =
2=[C=30°4=30°b=(84+/3 = 145.49)]
N03:[ I =[B=45,a=(33+3343290.16), c = (334/2 = 46.67)] }

2=[C=60°a=(144/2 43 =3429), b= (74/2 43 +214/2 = 46.84)]

Nod=[a=48,b=(244/2+/3 =58.79), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00007XX
TrigonometryExercise7 for No.9602

NO]_[1:[C=6o°,a=(14ﬁf=34.29),b=(7ﬁﬁ+21ﬁ=46.84)]}
Tl 2=[a=(544/227637), b=54,c= (2742 +274/2 4[3 = 104.32)]
[.1 _[4 =60°,B=75°,c=(26«/§«/§=63.69)]}
No2 =
2=[B=30° C=30%a=(784/3 = 135.10)]
NO3:[ I=[B=30°a=(3643 =6235), c=36] }
2=[4=60°c=(114/24/3 +334/2 =73.61), b=(224/2 4/3 =53.89)]

No4=[a=60,b=(304/2+/3 =73.48), 4=45"]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00008XX
TrigonometryExercise7 for No.9616

NO]:[ d=[a=78,b=(784/3 = 135.10), c = 78] }
2=[B=45% c= (4543 —45=32.94), a= (4542 4/3 = 110.23)]

[.]=[A=60°, C=75°,b=(30«/§«/§=73.48)]}

No2 =
2=[A=15° C=45°b=(304/2 43 =73.48)]
{1 —[A=60°% b=(304/24/3 =73.48), c=(154/24/3 +454/2 = 100.38)]}
No3 =
2=[C=45° b=(30+304/3 =81.96), a = (304/2 4/3 =73.48)]

Nod=[a=42,b= (4243 =72.75), 4=30"]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKKXKKXKXKXKKXKXKK




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6300107-00009XX
TrigonometryExercise7 for No.10152

{1 —[B=60%a=(64243+ 18«/5240.15),c=(12«/§«/§z29.39)]}
Nol =
2=[a=72b=(36+36+3 =9835), c= (362 +/3 =88.18)]
I=[C=30°4=30%b=(84+3 = 145.49)]}
2=[B=45,4=105¢= (1842 =25.46)]

N03_{1 —[B=30%a=(724/2 =101.82), ¢ = (364/2 4/3 = 364/2 =37.27)]}
Tl 224245 c= (4243 —42=30.75), b= (4242 4/3 = 102.88)]

Nod=[a=178,b=(394/2 /3 =95.53), 4 =45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300107-00010XX

TrigonometryExercise7 for No.11738

NO]_{ I =[a=90,b= (4543 —45=32.94), c = (4542 /3 = 110.23)] }
TL2=[B=30%c=(60+/2 =84.85),a=(304/2 +30+/2 4/3 = 115.91)]
[1 —[4 =6o°,B=75°,c=(26ﬁﬁ=63.69)]J
No2 =
2=[B=45°,C=105 a= (3342 =46.67)]
Nﬁ{ I=[B=30%c=(1542 43 —154/2 = 15.53),a = (304/2 = 42.43)] }
TL2=[4=60% c= (54243 +154/2 =33.46), b= (104/2 4/3 = 24.49)]

Nod=[a=30,b=(154/2 /3 =36.74), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00011XX

TrigonometryExercise7 for No.11754

NO[_[.I=[a:(36ﬁ:50.91),b:(18ﬁﬁ— 184/2 = 18.63),c:36]}
Tl 2=[B=45°c=(184/2 4/3 =44.09), a= (1843 — 18 = 13.18)]
[.1 _[4 =75°,B=60°,c=(28«/§«/§=68.59)]}
No2 =
2=[C=30° B=30°a=(364/3 =6235)]
I=[B=30°c=72a= (7243 =124.71)] }
2=[A=45°c=(27+274/3 =73.77), b= (274/2 43 = 66.14)]

Nod =[a=48,b= (2442 /3 =58.79), 4 =45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00012XX

TrigonometryExercise7 for No.11841

{1 _[B=30° c= (842 = 118.79), a = (42/2 + 424/2 /3 = 162.28)]}
Nol =
2=[a=(30+3043 =81.96), b= (3042 =42.43), ¢ = 60]
Noz—['l =[B=75°,A=60°,c=(26«/§«/§=63.69)]}
TL2=[B=15° C=45°, a=(24+/2 4/3 =58.79)]
{1:[8:600,c:(8«/5«/§+24 2 :53.54),a:(16«/5«/§:39.19)]}
No3 =
2=[C=45° a=(33+334/3=90.16), b= (334/2 4/3 =80.83)]

Nod4=[a=78,b=(394/24/3 =95.53),4=45]
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK

N02=[

N03:[



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKXXKXXKXMS/1-6300107-00013XX
TrigonometryExercise7 for No.11842

{ d=[a=48,b=48,c=(48+/3 =83.14)] }
Nol = o
2=[C=45°b=(364/2=5091),a=(36+364/3 =98.35)]
[ I=[C=30°%B=15%a= (6642 =93.34)] J
No2 =
2=[A4=75B=60°c= (1642 /3 =39.19)]
NOS_[J: [C:45°,a:(27«/5:38.18),b:(27+27«/§:73.77)]}
2=[B=30° c=48,a=(484/3 =83.14)]

Nod=[a=90,b=(45424/3 =110.23), 4 = 45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300107-00014XX
TrigonometryExercise7 for No.11901

NO]_{]:[A:300,b:(30«/5:42.43),c:(15«/5+15«/5«/7:57.96)]}
Tl 2=[a=(39424/3=9553), =78, ¢ = (394/3 —39=28.55)]
[1 :[B:60°,A:75°,c=(16ﬁﬁ=39.19)]J
No2 =
2=[C=30° A=105°,b=(304/2 = 42.43)]
o [1 [4=60°c=(284/2 43 =68.59), b= (142 4/3 +424/2 = 9369)]}
2=[C=45° a=(33+334/3290.16), b= (3342 /3 = 80.83)]

Nod=[a=42,b=(424/3 =72.75), 4 =30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00015XX
TrigonometryExercise7 for No.11947

[.Iz[A:60°,b:(22«/5«/§:53.89),c:(llx/z«/;+33«/5:73.61)]}
Nol =
2=[a=(45+3 —45=32.94), b= (452 4/3 =110.23), ¢ = 90]
Moo { —[C=45°,B=75a= (334243 = 8083)}
2=[B=60° 4=75 c=(30+24/3 =73.48)]
N03_{ .]:[A:45,b:(36«/7«/7:88.18),c:(36+36«/7:98.35)] }
TL2=[B=60° c=(124/24/3 22939), a= (64/2 /3 + 184/2 =40.15)]

Nod=[a=84,b=(84+/3 =145.49), 4 =30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00016XX
TrigonometryExercise7 for No.11989

[1 —la=(544/2=7637),b=(274/2 +274[24/3 = 104.32),0254]}
Nol =
2=[A=45° c=(42+424/3 = 114.75), b= (424/2 = 59.40)]
Moo - { S [A=15°C=45b=(21424/3 = 5144)}
2=[B=754=60° c_(26ff 63.69)]
{1:[0:45,b=(36+36[:98.35),a=(36ﬁ=50.91)]}
No3 =
2=[4=30°b=30,c=(3043 =51.96)]
Nod =[a=54b=(274/2 3 =66.14), 4 = 45°]

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXKXKKXXXXXKXKXKXKXKXKXKXKXKXKXXKXKX KKK XXX XXX XXKXKKXKXKXX




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6300107-00017XX
TrigonometryExercise7 for No.11996

NO]_{ I=[C=45°a=(184/2 =25.46), b= (18 + 184/3 =49.18)] }
TL2=Ta=66,b=(224/2 /3 =53.89), c= (1142 4/3 +334/2 =73.61)]
[.1 _[4=75" C=60°,b=(28«/§«/§=68.59)]}
No2 =
2=[4=30° B=30° c=(904/3 = 155.88)]
{]:[A=6O°,c:(10«/5«/7=24.49),b=(5«/§«/§+15«/5=33.46)]}

No3 =

2=[B=45,a= (2743 =27=19.77), c = (274/2 4/3 = 66.14)]

Nod=[a=36,b= (1842 /3 =44.09), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6300107-00018XX

TrigonometryExercise7 for No.12889

I=[B=30%a= (6643 =114.32), c=66] }
2=[a=42b=(742 /3 +214/2 =46.84), c = (1442 4/3 =34.29)]
NOZ:[.J:[C: 15°,A:45°,b:(36«/5«/§:88.18)]J
2=[B=60°A4=75,c=(204/2 /3 =48.99)]
Noj,:[ T =[A=30°b=(3642 +364/2 4/3 =139.09), c = (724/2 = 101.82)]}

2=[B=60°c=(1442 43 +424/2 293.69), a = (284/2 4/3 = 68.59)]

Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300107-00019XX

TrigonometryExercise7 for No.12890

I =[A=45° c=(184/2 =25.46), b= (18 + 184/3 =49.18)] }
2=Ta=(13424/3 +394/2 =87.00), b= (264/2 /3 = 63.69), c = 78]
[.1 =[B=75°,A=60°,c=(26«/§«/§=63.69)]}
No2 = o o
2=[B=45,4=15,c=(27+/2 /3 = 66.14)]
NO3_[.1=[B=45°,a=(45ﬁ—45=32.94),c=(45ﬁﬁ= 110.23)]}
2=[C=30%a=(304/3 =51.96), b=30]
Nod=[a=72,b= (36423 =88.18), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
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TrigonometryExercise7 for No.12891

NO]:[ d=[a=(3642=5091), b= (1842 + 184/2 4/3 =69.55), ¢ = 36] }
2=[A=60°c= (244243 =5879), b= (124/2 4/3 +364/2 =80.31)]
I=[A4=30°% B=30° c=(724/3 = 124.71)] J
2=[C=60°4=75b=(284/2 3 =68.59)]
N03{ I=[B=45°c=(394/3 —=39=2855),a=(394/2 4/3 =95.53)] }
2=[A=60°c=(84/2/3 +244/2 =53.54), b= (1642 4/3 =39.19)]

Nod=[a=66,b=(6643 =114.32),4=30°]
X [Page = 0005] XXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXKXKXKXXKXKXKXKKXKXKXKKXKXKK

No]:{

Nolz{

No2=[
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TrigonometryExercise7 for No.12917

Nol—{ I=[4=30°b=36,c= (3643 =6235)] }
TL2=Ta=(74/24/3 +214/2 =46.84), b =42, c = (14/2 4/3 =34.29)]

Noz—['] _[4=60°, C:75°,b:(30«/5«/§:73.48)]}
2=[C=30%A4=105°b=(5442 =76.37)]

N03_[ I=[B=30%c=(18+42 /3 —18+/2 = 18.63), a = (364/2 = 50.91)] }
TL2=[C=60% a=(184/24/3 =44.09), b=(94/2 /3 +274/2 = 60.23)]

Nod=1[a=84 b= (8443 = 145.49), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
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TrigonometryExercise7 for No.13099

o :[1 :[A:45°,c:(36«/5«/§:88.18),b=(36+36«/§=98.35)]}
2=[a=(364/3 =6235), b=136,c=36]
I=[C=30°A4=15b=(724/2 =101.82)] J
2=[B=60° C=75" a=(10+/2 /3 =24.49)]
NOSZ[.IZ[B:60°,c:(24«/5«/§:58.79),a:(12«/5«/§+36«/5:80.31)]}

2=[A=30%c=48, b= (48+/3 =83.14)]
Nod=[a=78,b=(39+2 /3 =95.53), 4 = 45°]

):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
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TrigonometryExercise7 for No.13100

NO[_[ d=[a=274/2 43 =274/2 =27.95), b =54, c = (544/2 = 7637)] }
TL2=1C=60° b= (1142 4/3 +334/2 =73.61),a= (2242 +/3 = 53.89)]
Nozz{.]=[3:75°,C=45°,a:(27«/5«/§:66.14)]J

2=[C=30° 4=30%b=(424/3 =72.75)]

N02=[

NO3_[ I=[C=30° b= (24423 —24+/2 =24.85), a = (48+/2 = 67.88)] }
TL2=[4=60° c=(114/24/3 +334/2 =73.61), b= (2242 4/3 = 53.89)]

Nod=[a=42,b= (4243 =72.75), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
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TrigonometryExercise7 for No.13139

NO[_[ [a=(4243 =72.75), b= 42, c = 42] }
2=[C=60° b= (24[[ 58.79), a = (12fﬁ+36f 80.31)]
NO2:{1=[A=45, =15,c:(33«/7«/7=80.83)}

2=[4=75,C=60°b=(22+/2 /3 =53.89)]
Nog o [1 [4=60°c=(134/2 43 +394/2 =87.00), b = (264/2 /3 = 6369)]}
2=[B=45 c=(3043 —30=21.96), a= (302 +/3 = 73.48)]

No4=[a=30,b=(304/3 =51.96),4=30"]
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK
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TrigonometryExercise7 for No.13411

NO]:{ I =[A=45°¢=(30+304/3 =81.96), b=(304/2 4/3 =73.48)] }

2=Ta=(2224/3=53.89), b= (114243 +334/2 =73.61), c = 66]
I=[C=30°4=30%b=(784/3 = 135.10)] }

2=[C=15° B=45° a=(394/2 4/3 =95.53)]

N03_{1 _ [C=60°,a=(13«/5«/;+39«/5:87.00),b:(26«/5«/§:63.69)]}
L 2=[B=30°c=(724/2 = 101.82), a= (36 4/2 +364/2 4/3 = 139.09)]

No4=[a=66,b=(334/2+/3 =80.83), 4 =45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
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